





Question No. 2

carbon monoxile Is onsidered

4N atomic element
4 Mmolecular compound

d Molecula 2ement
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Chemistry G

Question No 21

What is the oxidation number of carbon in Na,CO.”?




Question No. 17

Use the periodic table to answer the following question:
The formula CCly has amolar massof  g/mol.

“ 140
“ 150
146

' 154
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Question No g

Which one of the tollowng s oxidized

n the following Squation

“Al(s) - ;Pf;S()AlJL{ » Al SOk )sf Q) ~ 38

Tt o
0-.

AHSO. " aq






, = moles x molar mass
5.32moles x (40+16)g/mol = 2984




mol = grams / molar mass
molar mass of H20 = 18g/mol
Number of Molecules = moles x 6.022 x10723
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When the following equation is balanced, the coefficient of H28 is
FeCly (nq) + H28 (g) —» Fe83 (s) + HCI (aq)
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Question No. 2

n which of these substances are the atoms held together by polar covalent bonding?



Question No. 6

What s the maximum number of covalent bonds that a carbon atom can form?

U

N









Question No. 4

Which of the lollowing symbols indicates an aqueous

Q (s)
9 (9)
W (1)

U (aq)




Chemistry Quiz.

Question No. 14

what is the correct formula 1or the woniil) on?




Question No. 21

The oxadation number of N i NaNOs 1s

+6

+3
-
3

e Ny
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Question No. 22

Soﬁdalumhnmmdgaseomoxygenreactinacombinaﬁonrmﬁmmpm(hmmzog
4A1(s) + 302(g) — 2 A03(s)

The maximum amount of Al;O3 that can be produced from 2.5 gof Aland 2.5 g of
O21s g

47
74
93
94
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Question No. 2

action”

What is the reducing agent in the followngre

Mg + NiOz + 2H:0 — Mg(OH): + Ni(OH):

O
N1
Mg
H



yelOW ure

Que. o 2
| 1
- The cocﬂtcwnts (u,l),c,d) nocdcd (o balance the equnl jont
| 5 FeS +b 02 L Py d SO
(& (4,/,4,'))
(& (4,4./,‘))
@ (7.4.2.49)

-‘ (4./.').4)



Molar mass = grams / moles
54g / 2mol = 27g/mol




Sucrose is nonelectrolyte
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Question No. 13

A Strong electrolyte 1s a substance that N aqueous solutions

partially ionizes
completely onizes
® does not pnze

reacts




Chemistry

Question No. 18

wWhich of ihe following substances ¢ an make a

N aquecous solution that ¢ onauct elecirnicny ?

Mgl

CHyOCH,

Ci12H,,0,,




The molanty (M) of an aqueous solution containing 22.5 g of sucrose (C12H22011)
35.5 mL of solution 1s

- 0.0657
3.52
1.85
0.104



Ouestion NO 9
¢ the reaction nqm‘so‘mml by the following equation

jagss ) A
}.\1(\ » ;'Q‘.(‘I(i)

Choose the best «
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Srin 2A group (has 2 valance electrons)




Mg + O2 =2 MgO
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Oxygen in 6A group
O has 6 valance electrons







Question NO. 21
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Question No. 14

Find out the molecular formulaofa compound that has a molar mass of 138.0 g/mol and an
empirical formulaofNO3.

© N30¢
© NO2
© N203
@ N204




‘Select the element whose Lewis dot symbol IS COITE

© He
. eFre
@ 3Tes
' «Rae

Group number determine the valance electrons
- Ra in G 2A has 2 Valance electrons
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0

,' The ionic compound that forms between potassium and oxygen Is

e . ——

@ KO

K20
K202
KO?>

Question No. 23

Which one of the following pairs atoms can form a polar covalent bona?

i

Ca and | —
H and B
Sand S

™ and M




Question No. 20

wWhich of the 'ollowing pecies has an OXidation number of

T 28150

O,

Mg~

Al
Na~!




Question No 21

| | hydrogen on lod 10 whikh of | s
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+ .
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Question No. 9
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a molecular con DOU

a molecuial elemen!
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Question No. 5§
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In the reaction below, what is the theoretical yield in moles for NO when 3 moles of
NH; react with 3 moles of O;?

4NH; + 50, - 4NO +6 H)O

2 2 4 mol
-~ 2.8 mol
- 2.6 mol
- 3.0 mol
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C

single bond is long and weak
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@ hydrobromi

@ hydrogen bromide
@ hydrogen bromine
@ hydrogen bromale
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Question NoO. 21

[dentify the reducing agent 1n the chemical reaction
SFe**(aq) + MnO«(aq) + 8H'(ag)—> SFe**(aq) + Mn**(aq) 4H20(1)

W Mnb

) Fe*

7 MnOy

Fe't



Question No. 20

-_—

What is the molecular formulaofa compound that has a molar mass 0f 300 g/mol and its
empirical formulais CH,O?

© CH40;
~ CsHsOq
- C3HgO3
< CyioH20010



PRI That Dedlos 1o Dalnce a chemeal eqguabon s caie

2

What s the oxadation numberofcarbonin CQ, 2
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Total questions In exam: 25 | Answered: 8

Question No. 15

What is the charge on the Fe ions in Fe2037



D

mass % of Al = molar mass of AL / total molar mass x100
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LBuestion No 2

WK D iy of 1he periodic tabile s most ety 10 Torm diastomie mokec ukes ?

L Group SA
Group ™A
Caoup GA

Giroup JA




Question No. S5

Short bonds are usually while the long bonds are

Strong, weak
wWeak weak
Weak, strong

Strong, strong
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Question No. 21

In an oxidation reduction reaction the reduc aed auhstance alwayns

' takes on oxygen atoms
L gives up hydrogen atoms
shows loss of electrons

shows gain of electrons















@ weak base
@ strong base

¥ strong a0d

¥ sug¥

_gves an aqueous solution that does n

ot conduct electricity







How many
covalen! bonds
will an axygen atom mormally make

|
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@ 1

2 3
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Question No. 10 I




Hl is strong acid










:. »

@ Fe
@ K
@ O
| @ F










TR S G agent In the following red,
Zn(s) + Cu”(aq) v Zn*’ (aq)+ Cu(ys)




| Total questions In exam: 26 | Answered. 8

Question No. 13

What is the final molarity of HNO; solution, if 300 mLof 2M HNO;was diluted to a
final volumeof 0.2 1.?

“30M
“OH50M
“4A0M
“H60M



HOME 1005 has a posiive N
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M ) ) A )
When 22.0 g NaCl and 21.0 g H;80; are mixed and react according to the equation

below, which is the limiting reagent”

INaCl + HiSO4 -» NasSOy + 2ZHC)

|l ‘\(,‘

‘Qo“ I
HC)

“Ol \‘ ,;







Percents = molar mass of element / total molar mass x 100
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Question No. 20

In this reaction. what is the substance oxidized?
Zn + 2 HCl — ZnCl, + H,

chiorine
hydrogen
Zinc chloride
zinc



Question No. 7

The substance that causes the oxidation of another substance is called

O cathode

O reducing agent
O anode

O oxidizing agent

19290 90 9 JIRA) HLEAT (Bg,80 Y
jles oLl deuds 9a aeuslI Joladld (5 HLaally
J'.oo o~ |






Question No. 23

1 5 L of thai

-—

1 f Mokl ~ :rp-;,,:’,-lrra";:
what 5 the "K)Hlﬂy ol 3 <onhon g 518 g of NaBr dissoive

20M
BOM
HOM
A0M

Molarity = moles / volume (L)

moles of NaBr = 618g / 103g/mol (103 is molar mass)
moles of NaBr =6

Molarity = 6mol / 1.5L = 4M







mol = grams / molar mass AN
molarity = moles / volume (L) >\ \










ALl Sy @l sall Lehling polar Slila 13
H2,02,N2,F2,Cl2,Br2,I2 {sS» iliae nonplar <l 13
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Question No. 22

Analvsis of an unknown substance showed that it has a high bolling point and is brittle. It is an insulalor as a
solid but conducts electricity when melted. Which of the following substances would have those

characterstiics?

A

1- High boiling.

2- Insulator as a solid.

3- Conducts electricity.

those properties for lonic compound.
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Mass %of C = Molar mass of C / total molar mass x 100
total molar mass= (12x2) + (1x6) + (16x2) = 62g/mol
mass %of C=24/62 x 100 = 38.7%



< Q mol

3 )
8 13 mol

& 6 mol







The most correct name for the compound P4Syois:

i ¢ A% )

,'*' @ tetraphosphorus octasulfide
| @ tetraphosphorus decasulfide
| .lehplmphomsnonasullde
| @ triphosphorus decasulfide

Tetra=4
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‘ AlBr3 is reduced and Al is oxidized
Al 1s oxidized and Br: 1s reduced.

AlBr, is reduced and Br, is oxidized.




The most correct name for the compoundNI; is:

© mononitrogen triiodide
“ nitrogen iodide

+/ triiodo nitrogen

' nitrogen triiodide



total charge = -1
O=-2,03=-06
-6 + N = -1
N=+5







Molar mass = (Cu mm) + (S mm) + (O4 mm)
molar mass = 63.5 + 32 + (16x4) = 159.6




Question No. 13

| How many moles of ROC!I are there in 71 g of ROCI?

Q 143 mol
& 067 mol

& 532 mol

¢ C 59 mol

moles = grams / molar mass
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Question NoO. 17

The name of the chemical compound ¢ uyC O 1S
copper(ing c arbonate
copper carbonate
copperii) carbonate

Copper(l) carbonate




Question No. 8

Which of the following is the electron dot formula (Lewis structure) for an atom of
nitrogen”

@ No [N ) N: (d) N
) (4)
|;b'n







The number of CO» molecules that are produced from burning .of 57.11 g of Cgtls
114.22 g/mol) according to the following equation:

- (Molar mass
2CsHisny + 25 Oyg * 16 COygy 1 18 H0 (»

|

!
|
|

O 241 x 102 molecules.

9 6.02 x 10?" molecules.

Y B molecules.
@ 16 molecules.






B

Strong acid




e

.(Quosuon No. 7

| Which of the following statements is FALSE regarding an jonic bond?

N

O Metal atoms lose electrons and nonme
O Breaking an onic hond between two 10N
O The 0nK bond is formed between two non

tal atoms gain electrons

S requires energy

metal atoms

o An ongK bond is the attraction between a metal ion and a nonmetal ion













-" 4

i i ’LA. !l""’\ \1'10 e p
g di 41| Nq' ;Uml ““w ‘“‘&ﬂ.‘h MW "’; " ;u. < ""rs.'
'f A1 MR R "; .‘t. \ - tmni. ~

" !

5"
[

..o ...

.
o /..),"

| @ amolecular compound
© an ionic compound




;! Question No. §
- i AL SN T SR G LS
A double covalent bond contains of electrons.
® 3 pairs
@ 4 pairs
Q 2 pairs

@ 1 pair
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Question No. 21

What substance is the reducing agent in the following redox reaction?
Zn(s) + Cu*’(ag) — Zn""(ag) + Cu(s)

Cu
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Question NO. 1

ation for this reaction?
» Ca3(POg)2 + NaNO3

Which of the following gives the balanced equ

Na3zPO4 Ca(NO3)2
' NaiPOs + 2Ca(NO3 ) — 2Cas(PO4)2 NaNO3

+ Ca(NO3)2 — Ca5(P04)2 + 6NaNO3
3NaNO3

+ 6NaNO3

@ 2Na3POg4
Na3zPO4 + Ca(NO3)2 Ca3(PO4)2

2Na3P0O4 + 3Ca(NO3)2 — Ca3(PO4)2






Molar mass of C2H2 = (12x2) + (1x2) = 26
percent of C= (molar mass of C / total molar mass) x 100
percent of C = (24/26) x 100 = 92.3%

Sy









